# **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 5 - Ayr West
Valid Votes	8,171
Positions to be Filled	4
Quota	1,635

Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Chic BRODIE	Independent		506
Siobhian BROWN	Scottish National Party (SNP)		1,267
Allan DORANS	Scottish National Party (SNP)		646
Martin DOWEY	Scottish Conservative and Unionist		3,160
Lee LYONS	Scottish Conservative and Unionist		1,006
Liz MARTIN	Scottish Labour Party		911
Derek MCCABE	Scottish Conservative and Unionist		675
		Total	8,171

Candidate Martin DOWEY Elected with 3,160 votes, being in excess of the quota of 1,635

# **Transfers Report**

This report contains the transfers results.

#### Stage 2 - Surplus of Martin DOWEY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chic BRODIE	50	0.48259	24.12950
Transfer to Siobhian BROWN	20	0.48259	9.65180
Transfer to Allan DORANS	16	0.48259	7.72144
Transfer to Martin DOWEY	0	0.00000	0.00000
Transfer to Lee LYONS	1,743	0.48259	841.15437
Transfer to Liz MARTIN	85	0.48259	41.02015
Transfer to Derek MCCABE	1,111	0.48259	536.15749
Value of non-transferable ballot papers			65.16525
	Total		1,525.00000

# **Transfers Report**

This report contains the transfers results.

#### Stage 3 - Surplus of Lee LYONS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chic BRODIE	28	0.05542	1.55176
Transfer to Chic BRODIE	29	0.11485	3.33065
Transfer to Siobhian BROWN	4	0.05542	0.22168
Transfer to Siobhian BROWN	1	0.11485	0.11485
Transfer to Allan DORANS	4	0.05542	0.22168
Transfer to Allan DORANS	5	0.11485	0.57425
Transfer to Martin DOWEY	0	0.00000	0.00000
Transfer to Lee LYONS	0	0.00000	0.00000
Transfer to Liz MARTIN	53	0.05542	2.93726
Transfer to Liz MARTIN	53	0.11485	6.08705
Transfer to Derek MCCABE	1,606	0.05542	89.00452
Transfer to Derek MCCABE	871	0.11485	100.03435
Value of non-transferable ballot papers			8.07632
	Total		212.15437

# **Transfers Report**

This report contains the transfers results.

#### Stage 4 - Exclusion of Chic BRODIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Siobhian BROWN	2	0.11485	0.22970
Transfer to Siobhian BROWN	5	0.48259	2.41295
Transfer to Siobhian BROWN	97	1.00000	97.00000
Transfer to Allan DORANS	3	0.48259	1.44777
Transfer to Allan DORANS	68	1.00000	68.00000
Transfer to Martin DOWEY	0	0.00000	0.00000
Transfer to Lee LYONS	0	0.00000	0.00000
Transfer to Liz MARTIN	2	0.05542	0.11084
Transfer to Liz MARTIN	2	0.11485	0.22970
Transfer to Liz MARTIN	6	0.48259	2.89554
Transfer to Liz MARTIN	107	1.00000	107.00000
Transfer to Derek MCCABE	6	0.05542	0.33252
Transfer to Derek MCCABE	10	0.11485	1.14850
Transfer to Derek MCCABE	23	0.48259	11.09957
Transfer to Derek MCCABE	118	1.00000	118.00000
Value of non-transferable ballot papers			125.10482
N.P. The figures may not add due to rounding	Total		535.01191

# **Transfers Report**

This report contains the transfers results.

#### Stage 5 - Exclusion of Allan DORANS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chic BRODIE	0	0.00000	0.00000
Transfer to Siobhian BROWN	2	0.05542	0.11084
Transfer to Siobhian BROWN	2	0.48259	0.96518
Transfer to Siobhian BROWN	629	1.00000	629.00000
Transfer to Martin DOWEY	0	0.00000	0.00000
Transfer to Lee LYONS	0	0.00000	0.00000
Transfer to Liz MARTIN	1	0.11485	0.11485
Transfer to Liz MARTIN	3	0.48259	1.44777
Transfer to Liz MARTIN	31	1.00000	31.00000
Transfer to Derek MCCABE	2	0.11485	0.22970
Transfer to Derek MCCABE	7	0.48259	3.37813
Transfer to Derek MCCABE	13	1.00000	13.00000
Value of non-transferable ballot papers			44.71867
	Total		723.96514

# **Transfers Report**

This report contains the transfers results.

#### Stage 6 - Surplus of Siobhian BROWN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chic BRODIE	0	0.00000	0.00000
Transfer to Siobhian BROWN	0	0.00000	0.00000
Transfer to Allan DORANS	0	0.00000	0.00000
Transfer to Martin DOWEY	0	0.00000	0.00000
Transfer to Lee LYONS	0	0.00000	0.00000
Transfer to Liz MARTIN	1	0.01026	0.01026
Transfer to Liz MARTIN	1	0.02127	0.02127
Transfer to Liz MARTIN	10	0.08939	0.89390
Transfer to Liz MARTIN	774	0.18523	143.36802
Transfer to Derek MCCABE	3	0.01026	0.03078
Transfer to Derek MCCABE	2	0.02127	0.04254
Transfer to Derek MCCABE	2	0.08939	0.17878
Transfer to Derek MCCABE	69	0.18523	12.78087
Value of non-transferable ballot papers			214.38058

Total

371.70700

# **Transfers Report**

This report contains the transfers results.

#### Stage 7 - Exclusion of Liz MARTIN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chic BRODIE	0	0.00000	0.00000
Transfer to Siobhian BROWN	0	0.00000	0.00000
Transfer to Allan DORANS	0	0.00000	0.00000
Transfer to Martin DOWEY	0	0.00000	0.00000
Transfer to Lee LYONS	0	0.00000	0.00000
Transfer to Derek MCCABE	24	0.05542	1.33008
Transfer to Derek MCCABE	3	0.08939	0.26817
Transfer to Derek MCCABE	32	0.11485	3.67520
Transfer to Derek MCCABE	262	0.18523	48.53026
Transfer to Derek MCCABE	34	0.48259	16.40806
Transfer to Derek MCCABE	235	1.00000	235.00000
Value of non-transferable ballot papers			942.92484

Total

1,248.13661